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g # (Laplace transform) -z :
2, 0<t<3
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0, >3 ;v(0)= E'y
[#5%1]

L{y"} =S*Y(S)—Sy(0)—y'(0) = S*Y(S)

L{y'}=SY(S)-y(0)=5Y(S)

L{y}=Y(S)

= L{y"+5y'+6y} = E—Ze‘“dt

y'(0)=0,8 ¢ y'=
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= y(t)=L"{Y(S)} = B e 23 4 %ea(”) }u(t -3)- {% —e 4 %egt }
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04 095 06 x1] [0 X1 2
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S SRRV 2 2% % R 8k (joint probability density function) %
Xe™,0<y<x
fx,y(X,y)={ 0 ﬁy,g )
© T Rk (F a5 A 215 )

O %5 5 % &R S ¥ (marginal probability density function) fx(x)=?

Ofvix(y/x) =2
GO F P(YY <01/ X=05)5 @ ?

[# %]
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fx)= J.:Aae_“dy = [Aae_“y} , z ;

=Xxe™,x>0
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3 —Ax
fix,y) _ Xe :1'0£y<x

f(y|x): flx) Axe™ x

=)
fly|]x=0.5)=2,0<y <05
0.1 y:0_1
—=P(Y<0.1|x=0.5)=| 2dy=[2 —02

( | )=[ " 2dy =[2y] Yo
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w o~ %54 F=3yi+3xj+2zk i i e C o 2 P(1,2,3)
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7] H# 2 C 2 48 57 5% (parametric representation) r (t) -
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C;X_1= y—2 _ z-3 _t
2-1 -1-2 4-3

X=t+1

, 0<t<1

=Jy=-3t+2
z=t+3
= r(t)=(t+1)i+ (-3t +2)j+(t +3)K
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W=J- l:'~d7=j 3ydx +3xdy +2zdz

= [ [3(-3t +2)abx + 3(t + 1)(~3d) + 2(t +3)at]

= [ (-16+3)dt = -8t" +3t ] ; — 8+3=-5
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22 +C,(x,y)

—=22=fxy,2)=
ox
S fx,y,2)=3xy+2°=C
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(A) F+G = G+F B)(F+G)+H = F+(G+H)
(©) FxG = GxF D)(af)F = a(BF)
B 2. % & H F=xyi+(zx-sin(y))j+yzk #g P=( —1,0, 1)« & (divergence) & i@ ?
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(C) ClJl(X_E) +C2Y1 (X —E) (D) Cljé(X—g) + CZY% (X —5)
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